Math 60 Exam 1 Review Name: é //-11 cer~5

1. Consider the following set of numbers:
{—4.71,-7,0,0.2, 22, V16,122, 7}

List the numbers in the set that are:

a. natural numbers : o , e. irrational numbers
b. whole numbers : ©, §ie , # -7 V22

c. integers 7 o, {7g , 7 f. real numbers

d. rational numbers : _ 4.7(,0,0. _2-/ % ,ﬂ Z

Z.::) élé/?’

2. Graph each of the numbers from the above set on a number line.
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3. Insert either >, < or = between the two numbers to make a true statement.
a. 2.7 > -34 b.|[—-15 = & c. —v16 > -5

4. What is | — v/5? 5 Whatis 37 T4+ ;s u,.\,)cg_:%;
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6. Convert 3% to an improper fraction. 7. Convert g to a mixed number.
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9. Perform the indicated operation
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10. State the multiplicative inverse of each number.
G\ G t _ | G, _ 13
a. 7 —>i b.: > € c. -6 — Z d. —§ —> ’?—:
11. Use order of operations to simplify the following arithmetic expressions.
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e 25+5+34+2(7 -9 = 5 3]s 2(2)f Wepos - SE5) +30
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12. Evaluate the following expressions for the given value of the variable.
a. 2— 2> whenz =7 b. —z? —4x for z = —5
z
2.5, 2 _ 10 LS)=4(5) = - 25 rzo
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[ 13. Simplify each algebraic expression.

a. 7—(z+11) = Z— x -]
=-4-x =-4-2¢

c. 43y —17) — (13y — 2) =/23- 29-133 +2

d. 14245 - (72~ 2) + 4] =M 5= [ty 1y
2/t 5 - £7'x2~ lo]
2?5 = FxFr 10

=2 15

b. 144 3(6x —8) =/ 3 ~¢f

=/0 +3 %



| 14. Determine whether or not Z is a solution to 3 + 5z = 1.
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I 15. Determine whether or not —2% is a solution to 10 — 2z = 4z 4 20.
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[ 16. Answer the following questions regarding the polynomial

—4 —-1lz 4z — 5z.
a. How many terms does it have? c. What is the coefficient of the 4th term?
y -5

d. Are there any like terms? If so, list them
b. What is the constant term? using commas.

~ fes 1 -llx ) x, -Sx

[ 17. Write each English phrase/sentence as an algebraic expression/sentence. Let the variable =
represent the number.

a. the product of 6 and a number d. twice a number subtracted from 12
X Z(/ 2 ~X)
b. a number added to 4 e. The quo’clen)t< of a nuEber and 6 is 5.
¢ —°=
H+ X . .
f. Seven decreased by twice a number yields
c. three times a number, increased by 5 1.
_ F-Rx = |
33X +8



| 18. The bar graph below depicts the estimated number of calories per day needed to maintain
energy balance for various gender and age groups for moderately active lifestyles.
(Moderately active means a lifestyle that includes physical activity equivalent to walking 1.5
to 3 miles per day at 3 to 4 miles per hour, in addition to the light physical activity
associated with typical day-to-day life.)

Calories Needed to Maintain Energy Balance for Moderately Active Lifestyles
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The mathematical model
F = —6622 + 5261 + 1030 /G—rw(—’ *

describes the number of calories needed per day, F, by females inith
moderately active lifestyles. According to the model, how many calories per day are needed
by females between the ages of 19 and 30, inclusive, with this lifestyle? Does this
underestimate or overestimate the number shown by the graph above? By how much?
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